

## ■ つぎの かけ算をしましょう。

$6 \times 1 = \square$

$6 \times 3 = \square$

$6 \times 4 = \square$

$6 \times 1 = \square$

$6 \times 1 = \square$

$6 \times 8 = \square$

$6 \times 6 = \square$

$6 \times 7 = \square$

$6 \times 6 = \square$

$6 \times 3 = \square$

$6 \times 3 = \square$

$6 \times 5 = \square$

$6 \times 7 = \square$

$6 \times 4 = \square$

$6 \times 6 = \square$

$6 \times 2 = \square$

$6 \times 8 = \square$

$6 \times 2 = \square$

$6 \times 7 = \square$

$6 \times 9 = \square$

$6 \times 2 = \square$

$6 \times 7 = \square$

$6 \times 2 = \square$

$6 \times 8 = \square$

$6 \times 5 = \square$

$6 \times 9 = \square$

$6 \times 5 = \square$

$6 \times 1 = \square$

$6 \times 4 = \square$

$6 \times 3 = \square$

■ つぎの かけ算を しましょう。

$6 \times 1 = 6$

$6 \times 3 = 18$

$6 \times 4 = 24$

$6 \times 1 = 6$

$6 \times 1 = 6$

$6 \times 8 = 48$

$6 \times 6 = 36$

$6 \times 7 = 42$

$6 \times 6 = 36$

$6 \times 3 = 18$

$6 \times 3 = 18$

$6 \times 5 = 30$

$6 \times 7 = 42$

$6 \times 4 = 24$

$6 \times 6 = 36$

$6 \times 2 = 12$

$6 \times 8 = 48$

$6 \times 2 = 12$

$6 \times 7 = 42$

$6 \times 9 = 54$

$6 \times 2 = 12$

$6 \times 7 = 42$

$6 \times 2 = 12$

$6 \times 8 = 48$

$6 \times 5 = 30$

$6 \times 9 = 54$

$6 \times 5 = 30$

$6 \times 1 = 6$

$6 \times 4 = 24$

$6 \times 3 = 18$